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o= g & o
=g e |HEXE | SREA |amsay | XA M3 0. | @0
R =TT R L TEE T T T AT
20144 X 4,544,375 4,508,549 0 35,826 0 0 0 1,100,601
201549 & 609,920 609,920 0 0 0 0 0 26,870
20169 & 419,706 419,706 0 0 0 0 0 234,410
20179 & 576,523 576,523 0 0 0 0 0 102,774
20189 &= 665,200 665,200 0 0 0 0 0 51,251
20198 & 411,380 411,380 0 0 0 0 0 332,799
20209 & 654,030 654,030 0 0 0 0 0 131,043
Al 7,881,134 7,845,308 0 35,826 0 0 0 1,979,748
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| 23 0Ol pa }
4. HiX= & U&= EAl
SIHAHE - 2020
Ol &R 0 200
JHFAE o WHA2IIB (e & Q)
_ _ GIXI 2L Ol & o
== ol XI (=) A = = Hl
2018 = U & T H 0198 =LA@ | 2020 ELEHTHU® 52 (®-@)
e Al 1,515,906 1,845,705 1,979,748 134,043
Ol X2 A 1,515,906 1,845,705 1,979,748 134,043
sl 1,515,906 1,845,705 1,979,748 134,043
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SIASHE 20204
Ol &t Xb== 0 2011 &F
ATE - 85

[H0
0
x
Jiow

2 Al g X = Al g
& = = H M A= 4-0 oM ) & = NEH HUSX| EH E
= H 202,051 100,000 102,051 | & A 202,051 100,000 102,051
PSTR =T 100,000 100,000 0|l 8X& A 630 0 630
R = 0 0 0|8 A& AFS HI 0 0 0
Xt 2 = 0 0 0|¢ & 2 & Hl 0 0 0
T 0 0 o2 =2 & 0 0 0
N384 0 0 ojol & 2 0 0 0
o X 23 % 100,491 0 100,491 (0l X 2 201,421 100,000 101,421
Ol £ = 0 0 0| X3 Sas 0 0 0
o X = ¢ 1,560 0 1,560 [0l =224 & 0 0 0
JE = ¢ 0 0 0|21 & XN = 0 0 0
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SIASHE 20204
Ol & Xb2= =0l &t
ATE - GSuUFEH

® +2H
¥.om.g-2 go | TE= 1 x5
solo
200 Mlel+¢ 1,560 0 1,560
210 &ML= 1,560 0 1,560
216 Ol At~ 1,560 0 1,560
216-01 S0l = 0l Kt== 1,560 0 1,560
OWXI= Ol Xt =
700 BEE A SLUHENN 200,491 100,000 100,491
710 Ed S 100,491 0 100, 491
714 O X33l == 100, 491 0 100,491
714-01 Gl Xl 2 3l = 100, 491 0 100,491
| 100,491,500 =
720 LH = A cH 100,000 100,000 0
721 M2 100,000 100,000 0
721-03 JIEtSI H A L 3 100,000 100,000 0
LS H A
100,000,000& =
= 2 g A 202,051 100,000 102,051
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Ol & Xp2= =0l &t

JAHFE P d=EUFEHIS
® X&AH= (el &)
XN 22 . WY -G - MRAY - HAS xI& o 8= | yosa
X &
2 202,051 100,000 102,051
LEHF 202,051 100,000 102,051
TEO NEH Hotet 4l 630 0 630
dENREAMNY FI(L=SnREHI2) 630 0 630
dS1REE/A}¥s 2Y 630 0 630
201 L Er2 | 630 0 630
01 At 2teltl 630 630 0 630
OEg=unsedfas 289 70,0008 «9H 13| = 630
HREds(52) 201,421 100,000 101,421
BEIE(E=S0NFEHIZ) 201,421 100,000 101,421
SSUFREHAIZ WX 201,421 100,000 101,421
602 Ol Xl= 201,421 100,000 101,421
01 OXI=3 201,421 201,421 100,000 101,421
ots¢x ola3 201,421,000& = 201,421
o= g A 202,051 100,000 102,051

- 36 -




Ho
A
0

o

Otor

HAL
Ol &F Xb 2=
AHARZ negEsEla
x4 o
o ¢ g sxzs
| we HE x32 gg | BR=sT N
= (Ol Xk &)

20144 It X 0 0 0
20159 & 0 0 0
20169 & 0 0 0
20178 & 0 0 0
20189 &= 0 0 0
201949 & 100,491 0 491
202049 & 101,560 0 0 1,560

Al 202,051 0 0 2,051
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AHPE  UEDBEAIID (o ®el)
a oy o
" & o
@EE | e US| SUEA |ausen | HY3R |03 |, 00| @@
R =TT R L TEE T T T AT
20144 X 0 0 0 0 0 0 0 0
201549 & 0 0 0 0 0 0 0 0
20169 = 0 0 0 0 0 0 0 0
20179 & 0 0 0 0 0 0 0 0
20189 &= 0 0 0 0 0 0 0 0
20198 = 0 0 0 0 0 0 0 100,491
20209 & 630 630 0 0 0 0 0 100,930
Al 630 630 0 0 0 0 0 201,421
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HXx= & 0 Al
SIHAHE - 2020
Ol &R 0 20l
JAFRE P ESUFEHIB (crel &S
_ _ Gl Xl %
== ol XI (=) A = = =
2018 = U & T H 0198 =LA@ | 2020 ELEHTHU® 52 (®-@)

el 0 100,491 201,421 100,930
Ol X2 A 0 100,491 201,421 100,930

sl 0 100,491 201,421 100,930
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SAHHAE
Ol & X ==

120204
L0l

AT

[H0
0
X
Jjon

2 Al g X = Al g
& = = H T =4l oH ) & = NEH HUSX| EH E
= A 1,718,521 2,112,053 393,532 | & A 1,718,521 2,112,053 393,532
PSRV 0 0 0|8l SXHA A bl 910,030 1,105,842 195,812
2 = 2 0 0 0|8 X4 AL HI 0 0 0
PONETR= 0 0 o|or & 29y 0 0 0
T 0 0 0171 =2 & Hl 0 0 0
VEEEEES 0 0 ol = 2 0 0 0
o x 23 = 1,146,998 1,255, 111 ~108, 1130 X 2 808,491 1,006,211 197,720
ol Y 2 0 0 B ER-EIERN 0 0 0
o I = 50,740 52,181 AT1,441 |02 0 0 0
ol B % ¥ 520,783 804,761 A283,978 |01 B X &= 0 0 0
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SIASHE 20204
Ol & Xb2= =0l &t
AT HSTEINS

@ =2AH= EEH-E)
¥.om.g-2 sy | 8= 1 54 T
Soo
200 Mlel+¢ 543,443 823,376 A279,933
210 &ML= 22,660 18,615 4,045
216 Ol At~ 22,660 18,615 4,045
216-01 S0 30l At==¢ 22,660 18,615 4,045
OOUlXI= Ol 22,660,000 = 22,660
220 LA Z M2 == 520,783 804,761 A 283,978
22 €3 520,783 804,761 A 283,978
222-02 Yt 2 520,783 804,761 A 283,978
OXNYMHE XN&AS
520,783,000& = 520,783
700 B L SHUHEHN 1,175,078 1,288,677 A 113,599
710 Ed S 1,146,998 1,255,111 A 108,113
714 O X33 == 1,146,998 1,255,111 A 108,113
714-01 Ol XI 2 &l = 1,146,998 1,255,111 A 108,113
Oux=a &=
1,146,998,000& = 1,146,998
720 LH= H el 28,080 33,566 A5,486
722 I 303 28,080 33,566 A5,486
722-04 Gl &t = 01 At ==& 28,080 33,566 A5,486
Osg&2lla ez oIkt
28,080,000& = 28,080
= 2 & A 1,718,521 2,112,053 A 393,532
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SIHASE 20204
Ol &b Xb== 0 201 &t
JAHFE P NSNS
® X&AH= ool e
XN .22 HH O - ARAY - HAS X fow | smz2
Z23HH = 1,718,521 2,112,053 A 393,532
M= 1,718,521 2,112,053 A 393,532
Mg & Ity 910,030 1,105,842 A 195,812
MEIE 4 MENS 2HH(MSIEIS) 910,030 842,710 67,320
HEAEIII2EHY/AZSE 2 630 630 0
201 L Er2 | 630 630 0
01 At 2teltl 630 630 630 0
OF=3E =1 630
- HsAMEIS 22 AAAS
70,0003 x3YH +33| = 630
Cst et s AL XI& 250,200 204,800 45,400
201 Er2 | 3,200 12,800 29,600
01 At 2teltl 3,200 3,200 2,800 400
OO At MHRP OISl 200,000 x8H *23| = 3,200
307 212t0| & 217,000 192,000 25,000
04 QIZ2IHAIAIRIE X 217,000 217,000 192,000 25,000
O=el 2719 ¢ XA 80,000,000& = 80,000
Os8 dMsUs X 2,000,000& 14 & = 28,000
OMEANVMESUHEE XA 20,000,000& = 20,000
OMEdsUE & 243 MsSA XH
20,000,000& = 20,000
OKMNEAl ool MEXstHa X&  6,000,000& = 6,000
OO =M X0 OtetEUS X
3,000,000& = 3,000
OMEA ool 8ot M=Usa XI&
5,000,000& = 5,000
OFMotsS Exds T3 XI& 20,000,000& = 20,000
Osle+ Zoel Mad=siial K& 5,000,000& = 5,000
O3 tHet MSHEAL X2 30,000,000 = 30,000
405 AratF Sl 30,000 0 30,000
01 XraYL=2SHSHI 30,000 30,000 0 30,000
OSHE X S04 30,000,000& = 30,000
MEds 53¢ & Hisd NA 331,600 291,500 40,100
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XN .22 HH O - ARAY - HAS X fow | smz2
201 et Y| 11,000 10,000 1,000
01 AtSR2eldl 11,000 11,000 10,000 1,000
OFREEI &L AEIBI 222
1,100,000& x 10 B = = 11,000
307 212t01 & 320,600 281,500 39,100
02 QUtFAAIHE =X 232,000 232,000 212,500 19,500
ORFEIIUSE A 86,600
- S3592 800Y Of &t 8,875,000& 38 = = 26,625
- =392 300 Ol& 4,750,000 x5& = = 23,750
- =302 200 Ol& 4,025,000 +x98 5 = 36,225
OHES S EHIIUS AL 83,400
- &30 500¥ O] & 5,637,500 28 = = 11,275
- S50 300Y Of &t 4,050,000 48 = = 16,200
- =392 2008 Ool& 3,312,500& 88 = = 26,500
- =392 100¥ O] & 2,675,000 11885 = 29,425
OMEA % d303 &d
840,000% 2500 & & 3| +23] = 42,000
OEHASAIEH 23 15,000,000& = 15,000
ostHe+ cso=¢ 29 5,000,000& = 5,000
03 CIAHXNEE2IHIEX 73,600 73,600 54,000 19,600
Oste+ M=ss 828 s 54,000,000& = 54,000
OHMAM=3 2% S 19,600,000& = 19,600
04 QIZ2SHALAIR E X 15,000 15,000 15,000 0
OsE+ M=3l A 15,000,000& = 15,000
MEdswnsd 29 £ Xd 205,600 190, 180 15,420
201 LBt 38,600 38,600 0
01 Ar2eltl 38,000 38,000 38,000 0
Oger=2Hl 3,000
-HExX Y XTAH S 2,000,000& = 2,000
- Edi3te 1,000,000& = 1,000
Odesna 2583 500,000& x12) WA 23| = 12,000
Odgsns 7Y L JJIx2
800,000& =10 wal = 8,000




dEE

2 .22 . M. H2 . JIRAIY - HAS s 71 = ot Hus2
OMEBHSDA AE SXES 15,000,000 = 15,000
02 ZZ29H| 600 600 600 0
OZ2d HS2A ®IIR2 10,000 54 A 128 = 600
301 LBtENS 162,000 146,580 15,420
12 JletRa3 162,000 162,000 146,580 15,420
OMEBHSDA AR 162,000
- B0l MEHSWA 30,0002 *500Al 2H+98 = 135,000
- HOHQl MEHSWA 30,0002 *100A 2H98 = 27,000
307 @12+0| & 5,000 5,000 0
02 QIAABMAIAEZ 5,000 5,000 5,000 0
ON&=E Al -& & &2d ¢ 29 2,500,000 = 2,500
OIS Al - & e & L 29 2,500,0009 = 2,500
MEFSAE ¥ PUHALE 25 10,000 44,600 A 34,600
201 LBt 10,000 39,800 A29,800
01 Ar2Z2ldl 10,000 10,000 29,000 219,000
OZZHSAE HA(EMRE 23 5)
10,000,000 = 10,000
FUR A4 84 112,000 111,000 1,000
307 212+01 ™ 112,000 111,000 1,000
02 QUABMNALEX 112,000 112,000 111,000 1,000
OXNS BUSR SHAY XU 112,000
-HE BUR(R2SE, L2lEMS 5)
50,000,0008 = 50,000
-HSs RYF BE SH4S(H¥2E - WASI
X o)
1,000,000 <60 = 60,000
- T MIHA 2,000,0008! = 2,000
s (23S H) 808,491 1,006,211 A197,720
SEHIEBMSTEIZ) 808,491 1,006,211 A197,720
HeXZ 0lX 808,491 1,006,211 A 197,720
602 Ol Xl = 808,491 1,006,211 A 197,720
01 OIXIZ 808,491 808,491 1,006,211 A 197,720
ougsoz o3 808,491,0008 = 808,491
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Hedg D28 & HEEE
SIAAE 20204
Ol &FXb= 0 200 &
x4 o
o Ty sn3s+
e | @gz | 2xz | xgs |ENAs 01X+ | It
20143 DXl 13,464,862 0 999,511 | 12,465,351
20154 &= 605,876 0 62,841 543,035
20169 & 1,069,577 0 58,802 1,010,775
20179 & 1,107,724 0 56,419 1,051,305
2018 &= 871,758 0 66,997 804,761
201949 & 856,942 0 52,181 804,761
20209 & 571,523 0 0 50,740 520,783
| 18,548,262 0 0 1,347,491 17,200,771
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Ol & Xp2= = 0fl &t

o o o
o= g oy
deE| o |uSne | snan [onseu [Re3w [a38 ], | @
At bl sl R II2ZH | cl2AE | 234

20143 DX 10,721,379 9,415,138 0 1,306,241 0 0 0 2,743,483
20154 &= 596,809 594,319 0 2,490 0 0 0 9,067
20169 &= 751,194 751,194 0 0 0 0 0 318,383
20179 & 973,884 973,884 0 0 0 0 0 133,840
2018 &= 880,633 880,633 0 0 0 0 0 A8,875
201949 & 1,105,842 1,105,842 0 0 0 0 0 A 248,900
20209 & 910,030 910,030 0 0 0 0 0 A 338,507

| 15,939,771 14,631,040 0 1,308,731 0 0 0 2,608,491
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SIHAHAE 2020

Ol Abb = 0)l &

A2 MRS (cro: @

o Ol X 2 0o
22 |ox(EHH - _ - Hl 2
01BHCLEHYY | 019HCLHYM@ | 20208 S L E N AXE 52(0-@)

e Al 3,195,897 2,946,998 2,608,491 A 338,507

ol X2 AH 1,395,897 1,146,998 808,491 338,507
SR 1,395,897 1,146,998 808,491 338,507

R A0 1,800,000 1,800,000 1,800,000 0
sl 1,800,000 1,800,000 1,800,000 0
s
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2. 223 H &

SHAE 1 2020

Ol &bRFZS @ 20l A

AHne - mst)2

O =EINE-F=, EERED

> 2 Al g Xl = Al g
g = AQ | Fuz4id | Z g = ey |@ucxss | I 2

= A 865,040 2,086,622 | A1,221,582 |8 b 865,040 2,086,622 1,221,582
¥ g = 0 0 0B8R & A I 132,100 119,900 12,200
2 = 2 0 0 0|8 RH& A S I 0 0 0
PO TR 0 0 0|0 & 2 gl 0 0 0
T 0 0 o2 =2 & 4l 0 0 0
VEEEELE 0 0 ol = 2 0 1,200,000| A 1,200,000
o x 23 = 830,605 2,048,760 A1,218,155|01 X =2 732,940 766,722 33,782
Ol £ = 0 0 0| X3 Sas 0 0 0
o X % ¢ 33,035 36,562 A3,527 |Mazaass 0 0 0
ol B % 1,400 1,300 100|121 E&F X = 0 0 0
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SIASHE 20204
Ol & Xb2= =0l &t
AAT=2 - FEII=

@ == (G =)
¥.om.g-2 sy | 8= 1 54 T
o= o
200 A2l 15,715 15,484 231
210 ZAENLASY 14,315 14,184 131
216 Ol Xt =2 14,315 14,184 131
216-01 S 3020l Xt &= 14,315 14,184 131
OWXI= Ol Xt 14,315,778% = 14,315
220 LA EAIQAS 1,400 1,300 100
224 JIEF S 1,400 1,300 100
224-05 J|1 22 1,400 1,300 100
I3 (R=sUsdH su
oz Jlg 5)
1,400,0008! = 1,400
700 BERSASUHEH N 849,325 2,071,138 | ~1,221,813
710 B L AUS 830,605 2,048,760 | A 1,218,155
714 O X128l % 830,605 2,048,760 | ~ 1,218,155
714-01 Ol XI 2 3] & 830,605 2,048,760 | ~1,218,155
OOWlXl2 2= 830,605,000& = 830,605
720 LH =2 eH 18,720 22,378 3,658
722 OIE 2L 042 18,720 22,378 3,658
722-04 Ol EF 201 X & 18,720 22,378 3,658
OSs&202 =23 olX
18,720,0008 = 18,720
> 2 & A 865,040 2,086,622 | ~A1,221,582
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SIAHE 20204
Ol & Xp2= =0l &t
A2 - FEII=

® X&AH= (el &)
XN 22 . WY -G - MRAY - HAS xI& o 8= | yosa
X &
WIS H 865,040 2,086,622 A 1,221,582
SOALETESSUE 865,040 2,086,622 A 1,221,582
+ZE =2 UsEdE T4 (F8012) 132,100 119,900 12,200
sz 28 (H8123) 132,100 119,900 12,200
el 22242ARAS 29 700 700 0
201 L Er2 | 700 700 0
01 At 2teltl 700 700 700 0
OF=3E =1 700
- &8 3 2EEHYARS 70,000 x5H *23| = 700
etz k& 131,400 119,200 12,200
301 LerEdZ 131,400 119,200 12,200
02 Zstzadstitz 131,400 131,400 119,200 12,200
Oms3 N2 131,400
- EHSLUADH(HAS)H Y
1,500,000 50L& = 75,000
- NS A S AL 500,000 *x84% = 42,000
- NE2XSINSFEEE LBESM(HAS)
3,600,000& x4 = 14,400
WLRES(REIED) 732,940 1,966,722 AN 1,233,782
BEXE(HEI2) 732,940 766,722 A 33,782
&s0132 WXl 732,940 766,722 A 33,782
602 Ol XI=2 732,940 766,722 A 33,782
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® SN2 cHel XS )
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& = 2= o M A= 4-0 oM = & = NEH HEHCX =N =

= A 477,017 555,678 AT78,661 | & | 477,017 555,678 AT78,661
sl = = 0 0 0Bl & X & A HI 21,340 141,340 A 120,000
=] N 2 0 0 0|8 A& At HI 0 0 0
Xt = = 0 0 0|¢ & 2 & dl 0 0 0
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JE = ¢ 0 0 0|21 & XN = 0 0 0

- 06 -




SIAHAE 20204
Ol & Xb2= =0l &t
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216 Ol Xt==¢& 6,464 7,665 21,201
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OWXI= Ol Xt 6,464,000& = 6,464
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710 28U S 462,753 538,689 AT75,936
714 WX 23l = 462,753 538,689 ANT75,936
714-01 Ol Xl 2 & == 462,753 538,689 AT75,936
OUWXI2 3+ 462,753,000& = 462,753
720 LH2 A eH 7,800 9,324 AN 1,524
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20158 & 19,820 0 0 0 19,820
20169 = 15,719 0 0 15,719
201738 & 12,165 0 0 12,165
20188 & 513,075 500,000 0 13,075
20198 = 16,989 0 0 16,989
2020E = 14,264 0 0 0 14,264
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20159 & 123,094 123,094 0 0 0 0 0 A103,274
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20179 = 112,593 112,593 0 0 0 0 0| 2100,428
20189 = 96,395 96,395 0 0 0 0 0 416,680
20198 = 141,340 141,340 0 0 0 0 0| A124,351
2020E = 21,340 21,340 0 0 0 0 0 AT,076
Al 812,219 788,459 0 23,760 0 0 0 955,677
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ooy 2 0 0 ol & 2 o b 0 0 0
T 25,858 19,241 6.617(71 = & dl 0 0 0
Heza3s4s 0 0 ol = =2 0 0 0
o Xl 23 = 671,357 555,922 15,435 [0 X 3 658,336 522,147 136, 189
Ol £ = 0 0 0| X3 Sas 0 0 0
o X = ¢ 21,121 18,984 2,137 s+ 3as 0 0 0
ol B &Y 0 0 0171 B X = 0 0 0

- 106 -




ST : 20204
WA R =0l &
SHPE : BANSFARES L2002
@ +Hs o mm)
Tom-g-o2 so | D5= 1 5y T
20l o
200 A2l 2 13,321 9,660 3,661
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~ g @ 718,336 594,147 124, 189

- 107 -




SIAAE 20204
Ol &FXb= 0 20l &
JAFE @ SZ0IFFVESNSUHAIIS
® X&AH= (el &)
XN 22 . WY -G - MRAY - HAS xI& o 8= | yosa
X &
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o o Al g X = Al =
E = =9l oH & g o E & = A& HEHEX SN s 2

E Al 244,041 259,888 A15,847 | & A 244,041 259,888 N 15,847
& & = 0 0 0|t & A& A HI 101,892 90,940 10,952
= N = 0 0 0|E XH& A HI 0 0 0
Xt = = 0 0 o &g 2 ¢ dl 0 0 0
%owﬂ x}agﬂ@ﬁ 0 0 o121 = & 4l 0 0 0
HESASa =+ 0 0 01Ol & = 0 0 0
o xI 2 3 = 241,098 256,762 A 15,664 | O Xl = 142,149 168,948 AN26,799
o =« = 0 0 NEEEEEERE: 0 0 0
o X = ¢ 2,943 3,126 A183 |0 =32l 34 0 0 0
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200 A 2l%¢l 2,943 3,126 183
210 AR A QA2 2,943 3,126 183
216 Ol Xt£2) 2,943 3,126 ~183
216-01 L2201 Xt % 2,943 3,126 ~183
OWXI= Ol Xt 2,943,000& = 2,943
700 B2 S YUY 241,098 256,762 A 15,664
710 BE2 S 241,098 256,762 A 15,664
714 MIXI 23 % 241,098 256,762 A15,664
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HAHF D 244,041 259,888 A 15,847
Hol2 244,041 259,888 AN 15,847
S TAEHE X4 101,892 90,940 10,952
HESE THUZ2 2J2(HBESTHHU2220123) 101,892 90,940 10,952
Heeg 84835 A 101,892 90,940 10,952
201 L Er2 | 86,892 70,140 16,752
01 At 2teltl 85,692 85,692 68,940 16,752
Oger=2Hl 11,000
- sMEH 29 &2 500,000& x103 = 5,000
- NMESEHE 28 423 1,500,000 *43| = 6,000
OHg&s 2el 2,700
- 28tg 70,0003 =100 = 700
- A 200,000& 1001 = 2,000
OHAEINN 8 4223 300,000& x23| = 600
OHAEX 2el==HE 60,0002 x 1004 S = 600
OHAHAEX ™l 283 90,000& *x23| = 180
oMasEs Bcl=He 200,000& 100 = = 2,000
OSASHIE BE+=AHEDI 30,480
- 254 10,850& *2,00000 = 21,700
- 1202 43,9003 *20001 = 8,780
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OUHEMEHII S HHEs22ANAE 2Y
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OMEBESENE 22l E43
50,000 * 1000 A+ 12&8 = 6,000
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o x 23 = 759,220 750,274 g o460l X 2 599,750 544,588 55,162
Ol £ = 0 0 0| X3 Sas 0 0 0
o X = ¢ 13,650 10,074 3,576 |tl+=22e 348 0 0 0
ol B % ¥ 60,000 40,000 20,000|71 & X = 0 0 0
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SIAHAE 20204
Ol & Xb2= =0l &t
AT ASHEIS

@ =2AH= EEH-E)
¥.om.g-2 sy | 8= 1 54 T
Soo
200 Mlel+¢ 73,650 50,074 23,576
210 &ML= 13,650 10,074 3,576
216 Ol At~ 13,650 10,074 3,576
216-01 S0 30l At==¢ 13,650 10,074 3,576
OOUlXI= Ol 13,650,000& = 13,650
220 LA Z M2 == 60,000 40,000 20,000
223 =Y U= S 60,000 40,000 20,000
223-01 & =3 60,000 40,000 20,000
Om&3 60,000,000& = 60,000
700 BEE-ASLUHENN 759,220 750,274 8,946
710 EdS 759,220 750,274 8,946
714 O X33 =+ 759,220 750,274 8,946
714-01 Gl Xl 2 3l = 759,220 750,274 8,946
OUWXIZ &=+ 759,220,000& = 759,220
= o g A 832,870 800,348 32,522
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SIAHHAE 20204
Ol &b Xb== 0 201 &t
JAHRE  ASEEIS
® X&AH= (el &)
XN 22 . WY -G - MRAY - HAS xI& o 8= | yosa
X &
S22 A4t 832,870 800,348 32,522
A Z O oA 832,870 800,348 32,522
AZotE Y 2eled 233,120 255,760 A 22,640
SAM2S e & AZoE 2 (MNEIEDZ) 233,120 255,760 A 22,640
M A AlLINS 70,000 70,000 0
501 EXt3 70,000 70,000 0
01 QI2tskt3 70,000 70,000 70,000 0
ORAMAL AEMERZ X 70,000,000& = 70,000
SAZS =FTE4 75,920 78,860 A 2,940
201 et Y| 64,220 67,160 A2,940
01 At 2teltl 56,720 56,720 61,160 A4,440
Oger=gHl 55,600
- SARIMNE X2 AL 30,000,000& = 30,000
- SAEAMS =M NE £ E2 A Y
5,000,000 = 5,000
-ASSEUY 22 ALY 5,000,000& = 5,000
- ANMSSEA(2ESAE S)EAH
100,000 #2001 & = 2,000
S MEE0Y SEAPESRAY XAW =)
10,000,000 = 10,000
- RlYEA & EE2 1,800,000& 23| = 3,600
o=2g8=+% 1,120
- AMENSARE2E HoAZE
70,0003 «8H *13| = 560
- ASNEIISEE ARAS
70,000 x4 +23| = 560
03 A2 7,500 7,500 6,000 1,500
OBAEMERXE 6,000,000& = 6,000
OBAEME 22 1,500,000& = 1,500
206 M 2 dl 1,000 1,000 0
01 Mz bl 1,000 1,000 1,000 0
OAlZ+=HHl 10,000& 1004 = 1,000
301 LertEd 3 700 700 0
12 JIEtEA =3 700 700 700 0
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i, - - dEE
EX .22 FH .09 - MBAY - BHLS NEE! sa | RS
OAMZSS Hl2RS AR 400,0002 18| = 400
OSFSYAE 4D N3 20,0008 *159 = 300
307 212H0I H 10,000 10,000 0
02 PIHTMMABE 10,000 10,000 10,000 0
ONYSA SaHel L FESAH A3
10,000,0002 = 10,000
01210l AlME otF 2 800 15,800 A15,000
201 et F | 800 15,800 A 15,000
01 At eIt 800 800 800 0
SRR 800
- OlRI0l AEOE 57 EXE SN
10,0002 57} = 500
- O{RI0| JISAE SATHYA EX B
100,0002 +30} = 300
AMUNE SO BEX 86,400 91,100 A4,700
201 ZetE S| 1,000 1,700 AT700
01 At r2lHl 1,000 1,000 1,000 0
OAHIKSAMAANN DENE L ADE
50000091 23| = 1,000
301 YU RHB 85,400 89,400 A4,000
09 BALAHIXIAZ 9,600 9,600 9,600 0
OAHIT SIMAAE DT B4 Ay
50,000& x96H +23| = 9,600
12 JIEBA3 75,800 75,800 79,800 £4,000
OMEZALL OF2F NEHE 2SH
50,0002 *4% #1202 = 24,000
OMEZAYL T2 NSHE 2SH
50,0003 x10H +24 = 12,000
OOROIIIZAE H3YL B 25
50,0003 x45H +83| = 18,000
OMERZIEYA S NTos B
50,000 x40Z x735| = 14,000
OSA2INE DU 2|
50,0008 »20& +72 = 7,000
OAHIT AMTAY HBDS BAE
400,0002 +28| = 800
WeES(2ASAMD) 599,750 544,568 55, 162
SBENE(AMBIEIZ) 599,750 544,588 55,162
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] _ _ Hdg
ZE .22 FH .09 HASAY - BYS EL! - Bz

X & o
AZANEIIS WX 599,750 544,588 55,162
602 Ol Xl= 599,750 544,588 55,162
01 OIxl= 599,750 599,750 544,588 55,162

otsdxz olaas 599,750,000& = 599,750

Xl £ g A 832,870 800, 348 32,522
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AEdgd JlZx4d & Hads
A
Gl AERES =
SIHTE - AZRE)2 crolxel)
xS o
AT g - sx234+
H@ el 8xX3 X2 (01 Kb &) OlRF=¢ | JIEF=E

20144 DHX 3,701, 516,786 753,093 0 451,446 1,980,208
201549 = 157, 6,600 50,997 24,442 75,102
20164E &= 74, 10,000 0 13,306 50,741
20179 = 110, 20,000 0 19,838 70,290
20188 = 124, 30,000 0 20,064 73,944
2019 &= 90, 40,000 0 10,074 40,000
2020 & 73, 0 0 0 13,650 60,000

Al 4,330, 623,386 804,090 0 552,820 2,350,285
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SIAHAE 20204
Ol & Xp2= = 0fl &t

SRR MENEIIZ (Gl mg)
a oy o
¢ = & o
=g e |HEXE | SREA |amsay | XA M3 0. | @0
R =TT R L TEE T T T AT
20144 X 2,621,559 1,621,739 795,000 204,143 0 0 677 1,079,974
201549 & 138,820 138,540 0 280 0 0 0 18,321
20169 & 110,060 110,060 0 0 0 0 0 36,013
20179 & 160,622 159,928 0 0 694 A 50,494
20189 &= 170,723 170,723 0 0 0 A46,715
20198 & 295,927 225,760 70,000 0 167 A 205,853
20209 & 233,120 163,120 70,000 0 0 A~ 159,470
Al 3,730,831 2,589,870 935,000 204,423 0 0 1,538 599,750
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| 2 0Ol p }
4. GIxIZ2 &« 0E2 A
SIHAHAE 2020
Ol AFXE2= 0 20l A
SIHRE  ASEHEIZ (el ® Q)
_ _ Gl Xl & Of EFH
& Oil XI (EH) A = = Hl 1
2018 = 2 & 1 o 0090 CELEMA@ | 2020 S L& X HO 52 (0-®@)
& A 965,073 759,220 599,750 A 159,470
0ol Xl =2 N 965,073 759,220 599,750 A 159,470
cled 965,073 759,220 599,750 A 159,470

- 163 -






